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MT 206 - Psscal Programming

Answer four questions onlY Time: 2 hourc

For the programming problems, marks will be awarded for the shucture

of thc codc, its rcadability, usc of suitablc comments, choice o[

mea[inglul names for the idcntiliers' and its correctness.

Ql.
Briefly describe the Slaz ddrd Primilive Ddia lypes in Pascal

Write down the lzpzl Statements inPaFcal4Lexplain their key differences

write a program to read a time duration in seconds and then to display this

Duration in number ofdays, hours , minutes and seconds.

e.g. input : duration ( in seconds ) : 455723

output : 5 days 6 hours 35 mints 23 sec

Write a program to read a positive integer Y and a real number X, and to

display the X to the power ofY ( X Y 
)

(20)

( 10)

(30)

(40)

Q2.

A company pays its security guards in hourly basis The rate of payment is 60 Rs/hour

between 6.00 A.M to 6 OO P.M and 120 Rs/hour in the rest ofthe day'

Write a program to calculate the total payment lor a guard for a day This program

should read the values fot slarlitlg tihe and the end lime in z4-hou's format Entries

lare confined to 919 day. lf a guard works continuously into the next day' two

iseparate entries are made for each day This program should also detect and report

any error in input values.

l\'

(1oo)



Q3.

C.onsiclel the lollorving ?ascai prog.r anl

CONST

sPace = ' ';

x/ D/ tD: inleqef,;

l\

'. " ' ttuti irtg) \'
9-\a\
\ "l:- -,-,--< *",---_- :' - ,,./'

rf x <

LD: =1 ;

x),

If XhodD=0
Then If LD < D

theD begin

write (D, sPace)

X:=XdivD;
tD := Dt

End

x:= >( diw D

D .= D +1

Unlil X=1;

Whal doci llle il)o. e pr.,gr'trrr d.-, '

What would be the output ofthe progrrn for the following valLtes lor X 1

X:45. X-2, X= l.

l. thc iborc iJI 'bt:trl rser lr.cl)r'l\^ Fr; lain yo"r rtt'ucr'

Is it possible to replace the abovc nested lf'-Ther-Else statcn)ent bv

slatcrrrenl'l Ilxplrin yoilr ans\ver

ls it possible to replacc the above llepeat- Urrtil statenrent by a For-

(-10 )

(r0)

( r0)

a Crse [rre]

(10)

Do statenlcnl ?

(10)
n yollr answcr.



Q.r.

l3r iefly explain the ARRAY clata type in Prscal ( 15)

\vrilc r progr.illl to read a parag'aIh tenninrted bi lhe specirl charilctcr 'r'.

and to coLlnt the unrber of occurr-ences ol each characters ',4' to 'Z' and to

display the nrrmbc of occurrences and the percelltage oI ocolrrrences against

each crf these characters Llere all,the lower L:d\e letters should be counted as

Ilxel1rl)le ()ulput

l,-e!t9t_s 

-. 
_-e q!!lt-! I'crqc!t4gc

B l2

3

1.5

(3s )

relevant intbrntatiorl. That is the

Regislration Nurnber ofthe J th

varlable 'I!ostcl!I |. NoO lS lt tLtu it t'

Q5.

'Ihe lirllowing declaralious are nrade in a Pascal progrom to keep records of Lhe

resi(lenls of a hostel. Therc ale 200 roonls ill tlle hostc'l arrd ntaxitnunt !l[eg stlldents

can Lre accr)tttnrodated in each |oom llooms are numbered frolll I to 200

Ionst

N'{rxRoom = 2(X):

MaxlnRooln=Ji
-lype

RegisterNoTyPe = stringl l0i:

lioonlT]'pc = Rccord

S tudcrts : Arra! I L tvl a\ ln Roon I of l{cgistcrN o'l Ypc:

NoO{Shrdcnts: L. i\'l ax fir Roornl

f.nclr

lloslcl'i')pc = ArratJ L.N{irxRoorrrI of Roorn'f)'pc:

tloslel : Llostol'1_,rPe.

Assurie that the anay variablc llostel has all the

fielci variable 'Hostellll.:;hklet :;l,J/' will give the

sludent in the Roorn Number I Sinrilally the field

will hokithe nurrrber olstudcnts in the room I



Write a pfoccdure \thich acccPts

display tlrc looilr nunlblrs against

tlre Varial)le llostel as its actual paratlteter and to

Q6.

(r)

Conlparc the ItuSEl- :rnd RDWRif ll comma,rds in thc context olTi:lXI filcs

n corrrpany kec'ps inlorlnation iegarding the prices ofthe stcel

filc nrnreci 'price.txt Steel bafs are ol dillerent sizes and arc

2ll0 llnch line;n this text file cotrtaiis tlvo values; size nrtrnbcr

conespon(liog price.

l/ritc a firnclion rvhich uscs the above text file 'pdce txl' to calculate the cosl oF a

singlc sale 'lhis functiorl shoLrld accept size ofthe bar atrcl the qtrantity sold ns ils

l)aranrelers ar\d should retLlIn tlle iotal cost ofthis sale

(40)

(1,)

what does it irean by a Dynarilic D?,ta stnlcture? ( l0)

Ilriefly explain eacb ofthe lollorving Pasoal steternenls Lrsillg suitable illLrsiralions

A. B : "char.

Ilegir)

Nerv(A);

B:=A:

B ":='4'.

Netv(B):

A" :B^;

A::It;

Eq.l.

( l0)

bars it sells ir a text

nunrbered lrrrrr I to

ofa steel bar and the

e

wrire( A^, B/):

wrire( A^. B");

B'..:',7': wrile(4",B"):

Wr itc(A^. B");

dispose(B);

:

(.10)


